AR A T — TR |
PEEKN0 @ D [

Jh—JJ
EHET R Size (mm) EHhET Size (mm)
Part Number M D] ¢ 4 n Part Number M DK K n

04000N0020040004 M2x6 385 123 0.63 04000N0060100016 Méex16 11.79 345 179
04000N0025045006  M2.5x6 4.85 143 0.73 04000N0060100020 M6x20 11.79 345 179
04000N0025045008 M2.5x8 485 143 0.73 04000N0060100025 M6x25 11.79 345 179
04000N0025045010 M2.5x10 4.85 143 0.73 04000N0060100030 M6x30 11.79 345 179
04000N0025045012 M2.5x12 485 143 0.73 04000N0060100035 M6x35 11.79 345 179
04000N0025045016 M2.5x16 4.85 143 0.73 04000N0060100040 M6x40 11.79 345 179
04000N0030050004 M3x4 545 173 093 04000N0060100045 M6x45 1179 345 179
04000N0030050005 M3x5 545 173 093 04000N0060100050 M6x50 11.79 345 179
04000N0030050006 M3x6 545 173 093 04000N0060100060 Méex60 11.79 345 179
04000N0030050008 M3x8 545 173 093 04000N0060100065 Mex65 11.79 345 179
04000N0030050010 M3x10 545 173 093 04000N0080125016 M8x16 1579 4.65 219
04000N0030050012 M3x12 545 173 093 04000N0080125020 M8x20 1579 4.65 219
04000N0030050016 M3x16 545 173 093 04000N0080125025 M8x25 1579 4.65 219
04000N0030050020 M3x20 545 173 093 04000N0080125030 M8x30 1579 4.65 219
04000N0030050025 M3x25 545 173 093 04000N0080125035 M8x35 1579 4.65 219
04000N0040070006 M4x06 7.82 233 139 (04000N0080125040 M8x40 15.79 4.65 219
04000N0040070008 M4x08 7.82 233 139 (04000N0080125050 M8x50 15.79 4.65 219
04000N0040070010 M4x10 7.82 233 139 04000N0080125065 M8x65 1579 4.65 219
04000N0040070012 M4x12 7.82 233 139
04000N0040070016 M4x1l6 7.82 233 139
04000N0040070020 M4x20 7.82 233 139
04000N0040070025 M4x25 7.82 233 139
04000N0040070030 M4x30 7.82 233 139
04000N0040070031 M4x35 7.82 233 139
04000N0050080006 M5x6 932 294 139
04000N0050080008 M5x8 932 294 139
04000N0050080010 M5x10 932 294 139
04000N0050080012 M5x12 932 294 139
04000N0050080016 M5x16 932 294 139
04000N0050080020 M5x20 932 294 139
04000N0050080025 M5x25 932 294 139
04000N0050080030 M5x30 932 294 139
04000N0050080035 M5x35 932 294 139
04000N0050080060 M5x60 932 294 139
04000N0060100006 Méex6 1179 345 179
04000N0060100008 M6x8 1179 345 179
04000N0060100010 M6x10 11.79 345 179
04000N0060100006 Méex12 1179 345 179



	Sheet1

